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KIACUOUKAIIMOHU UCIIAT

JVH, 2024.
BPEME U3PAJIE: 120 MUHYTA
MAKCHMAJIAH BPOJ IIOEHA: 60

YIIYTCTBA 3A KAHAUJATE

Ha 3Hak r7aBHOT IEeXKypHOT W3BaIuTe LeAyJby (MICHTH(HKALMOHY KapTHIly) KOja Cce HaJla3W y KOBEPTH, IOIyHUTE je
TPaXCHUM JINYHUM T0JIallIMa, BPaTUTE e yJbY Y KOBEPTY M 00aBE3HO 3aJeMUTE KOBEPTY.
BAYKHO!!!

HA CAMOJ KOBEPTH HE CMETE HUIITA IINCATU. HA UCIIUTHOM TECTY U MAPTHHAMA HE CMETE
HAIMUCATHU HU CBOJE UME, HUTU HEKY HIU®PY, HUTU BUJIO KAKBE JAPYI'E O3HAKE. UCIIUTHH
TECTOBU KOJA BYJAY HA BUJIO KOJU HAYUH O3HAYEHU BURE OJMAX JUCKBAJTU®UKOBAHU, BE3
HPETJIEJAIBA.

Hcnmtan TecToBu 6uhe mmdprupaHy HAKOH IITO CBU KAHAWAATH HAITyCTE MECTO MOJIarama NCINTA.

VYxomuko To HECTE Beh yunHMIN, cBOje MiuHe cTBapu (Topde, paciukiie, jakHe...) OJUIOKUTE Ha KaTeApy win yuBmTyK. He
3a0opaBuTe Ja HCK/bYYHMTe U OJJI0KHTe MOOHIHe TeledoHe Kao M OUJI0 Koje Ipyre eJleKTpoHcKe ypehaje, koju He
cMejy cTajaTH Ha KJynama, HUTH ucnoa mux. Ha kimynmama mory na Oyny caMo MCHHTHHM TECTOBH U OJIOBKE, COK MM
BOJa, Ka0 ¥ JIMYHA KapTa/acoul 1 MOTBp/a O IpHjeMy JoKyMeHaTa (JincTuh ca medaToM B yIHCAHUM MPHjeMHIM OpojeM).
[Moxecute cBOj YaCOBHUK TaKo Jia c€ BpeMe CllayKe ca OHUM Ha YaCOBHHUKY NeXypHuX. M3pana 3ajnaraka He cMe J1a Tpaje
ayxe o1 120 MuHyTa. YKOJIHMKO TECT 3aBPIIMTE NPe UCTEKa OBOT POKAa, MOXKETE JIa HAIyCTUTE aMdurearap / yIuoHHILy. Y
TOM CITy4ajy, OKPEHUTE TECT Ha JIMLE ¥ OCTABUTE I'a HA KJIYIH.

3a u3paay 3ajaTaka MOpare 1a KOpUCTUTE IJIABY XeMHjcKy 0J10BKY. Hujenan oarosop Hanucan rpagUTHOM 0JI0BKOM
WJIH 0JIOBKOM Yy 00ju Koja Huje miaBa nehe 6uTH mpu3HaT! AKO Hemare IJIaBy XEMHJCKY OJIOBKY, MOTPAXHUTE j& OJ1
JIeKYPHUX.

OxpeHHTe IpyTy CTPAHUILy TECTA TeK KaJa IesKyPHH 00jaBe 1a Mo4Ynb-e 3BAaHNYHO BpeMe u3paje TecTa.

VY npBom geny tecta (PART A) CAMO 3AOKPYIKUTE jenan ox monyhernux onrosopa — HE TPEBA ynucuBaTu
peliemha Uy TEKCT HJIM PeYeHHILy.

VY npyrom nemy tecta (PART B) TPEBA ynucuBaTH peliesa y TEKCT HJIU PeYeHUIy.

MAKJBUBO MIPOUYUTAJTE YITYTCTBA nata Ha Ho4eTKy CBaKOT 0]] BeX0ara, 1 IPe Hero ILTO Ce OJUTyYHTE 3a jeTHO
on monyhenux pemema, win ymuiiere cBoje pemete — IMAKI/BUBO TMPOUYUTAJTE HEJUW TEKCT WA
PEYEHULY U JTOBPO PABMUCJIUTE.

VYkoauko cre Beh 3a0KpY UM WM YIIHCAIHN JEAHO PELIee, Na Ce MPEAOMHCIINTE U JKEITUTE /1a 32a0KPYKUTEILII, Y THIIETe
JIpyTO peuieme, To Mopa outH ypalheHo T a ¢ HEeJRQCMHUCIIEHO BUIM KOje pelemhe Baxu. Ha anMeS@ b d,
WJIN YKOJIMKO C€ IIOHOBO IIPEIOMHCIIHTE, @ b &; VYnorpeba KOpeKTopa 3a XeMHjCKY OJIOBKY HHUje 103BOJbEHA.
Monumo oOpaturte naxmy aa Ha TecTy Tpeoa naBatu CAMO JEJIHY Baxehy Bep3ujy oaroopa — Hehe ce npusHaBatu
OJITOBOPY Ca BHIIE OCTaBJbEHUX AITEPHATUBHUX peliemha!l Baxehe pememe MoxkeTe 1a 03HAUNTE M CTPEITHILIOM TOpe Koje
ITHIIIC ,,0BO BAXKH*.

OxroBopu koju y ceOu caapyke OMII0 KakBy TPEUIKy y MHCamy ped (spelling) M HUCY Y CKIIQAy ca rpaMaTHIKAM PeloM
peun eHryiecke pedeHuiie Hehe OuTH MpHU3HATH — 3aTO NMPOBEPHUTE A JIM Cy Ballla pellca HUCIHCAHA TAYHO, jaCHO M
YUTKO.

Tect uMa yKymHo 6 cTpaHa — 00paTuTe NaXmby Ja HEKy O CTpaHa rPelkoM He MpecKovnTe!

Y TOKY U3PAJE TECTA HUKAKBA KOMYHUKALIUJA KAHAUJATA CA BUJIO KUM HA BUJIO KOJU
HAYUH HERE BUTHU TOJIEPUCAHA. U cim nokyniaj npenucuBama WIN yoTpede eJIeKTPOHCKUX ypehaja ouio
Koje Bpcre kazuuhe ce TPEHYTHUM YJA/BEWLEM CA UCITUTA U JUCKBAJTU®UKALIUJOM.

TokoMm u3pazse TecTa, He MOKeTe TPAKUTH TIOMON WM ofjalmbema o AexypHUX. CBe IITO JKEJIUTe Aa IHUTaTe MopaTe
MUTATH TIpe HEro MITo ce 00jaBy MOYETaK U3pajie TecTa U Ipe Hero BUJUTE CAM TECT.

OBuX ymyTcTaBa, Kao M YITyTCTaBa 3a pellaBambe CBAKOT BexOama Tpeda ce TOCIOBHO MPUAPIKABATH.

GOOD LUCK!




PART A - MULTIPLE CHOICE TASKS

I For each numbered gap choose ONE of the four offered answers to make the sentence
grammatically correct and logical. JUST CIRCLE A, B, C or D. Do NOT fill in the
numbered gaps. The first one (0) is done for you.

10 x 1 point=1 int

It’s all (0) impossible to learn about Henry VIII’s six wives without (1) a favorite.
Perhaps you’re (2) to (3) stubborn and imperious Catherine of Aragon, (4)
refused to get divorced without a fight. Or Anne Boleyn. (5) to some accounts,
Boleyn did whatever it took to (6) .
But (7) often lost in the shuffle is Henry’s fourth wife, Anne of Cleves. She escaped a
joyless family, (8) an unhappy marriage, and jumped (9) the chance to live her
best life. While courtiers and wives rose and fell in their orbits around the king, Anne remained
(10) Henry and his children.

0. (A)) but C) however
too D) yet
1. | A) taking C) picking
" | B) chosing D) deciding
7 | A) partially C) partialy
" | B) partial D) parcial
3 | A)the C)a
B) an D) some
4. | A) which C) she
" | B) that D) who
5 | A)Since C) Judging
" | B) According D) Based
6. | A) geton with C) get ahead
" | B) get through D) get away with
7 | A) much C) too much
" | B) quiet D) too
g | A) has evaded C) avoided
" | B) had been avoided D) was avoided
9 |A)onto C) into
" | B)on D) at
10. | AA) at good terms with C) on good terms with
" | B) on good terms to D) in good terms with




IT For each numbered gap or a set of gaps choose ONE of the four offered answers to
make the sentence both grammatically correct and logical. Do NOT fill in the gaps. Just
CIRCLE A, B, C or D. The sign O offered as an option in some sentences means that no
word or word group is missing. The first one (0) is done for you.

(0) We’ve been friends for a long time now,

10 x 1 point = 10 points

?

A) have not we

1

L C)) haven’t we

B) don’t we

D) are we not

1. It really bothers me, the way Joshacts  he  elected  president of this office.

A) if only / were / the

C) even though / being / O

B) asif/were/ O

D) as though /is/ the

2. Ithought  suggestion that we _ inside for the storm to pass __ the most rational one.

A) Charles’ / waited / is

C) Charles’s / should had waited / was

B) Charles’s / should’ve waited / is

D) Charles’ / wait / was

3. I really admire the way you’ve  this company. Your _ presence has really turned it

A) leaded / authoritive / round

C) led / authoritative / around

B) lead / authorised / up

D) led / authoritarian / on

4. Despite  fear of flying he  as a child, Jonathan eventually  in becoming a pilot.

A) a/has had / succeeded

C) O/ had/ succeeded

B) the / had had / succeeded

D) a/use to have / succeded

5.Much  my surprise, Jerry’s ~ hasnever  disapproval.

A) to/ taughtlessness / been met by

C) to/thoughtlessness / been met with

B) at/thoughtlesness / met

D) on/ thoughtlessness / met with




6. Andrew claims he __ there when the subject of his $3 million was brought

A) wasn’t/ inheritance / up

C) hasn’t been / will / up

B) hadn’t been / legacy / in

D) wasn’t/ heritage / on

7. Henson’s latest novel offers a harsh _ of the State’s  to punish ___ corrupt officials.

A) critic / unability / its

C) criticism / unableness / it’s

B) commentary / inability / its’

D) critique / inability / its

8. Barbara denied  involved  the scandal.  , she was served a court subpoena today.

A) having been / in / Nevertheless

C) to have been / in / Consequently

B) to be / with / On the contrary

D) being / with / For example

9.IfElena _ me to goraftingon ___ Drina two years ago,  wouldn’t  married to her

now.

A) didn’tinvite / @ / be

C) hadn’t invited / @ / have

B) hadn’t invited / the / be

D) hadn’t invited / the / have been

10. She said she  herself a person of  great importance until her bankruptcy  last

spring.

A) considered /a/ @

C) had considered/ @/ @

B) has considered / @ / the

D) had been considered / the / the




PART B — FILL-IN TASKS

I Fill in the blanks with appropriate verb forms (finite, non-finite, modalized,
perfective, progressive, active, or passive) of the verbs in brackets, so that you get
grammatically correct and meaningful sentences which are appropriate for the given
context. Also pay attention to word order and spelling. It is NOT acceptable to add any
other word (pronouns, nouns, etc.). The first one (0) is done for you.

20 x 1 point = 20 points

Only when we (0) slid (s/ide) on our sandals and (1) (cross) the large dune
in order to get to the dazzling beach which long ago, before the garbage tides, (2)

(represent) an image of a typical beach, (3) (MODAL,
see, we) the crashed spaceship. If rainbow-like fluids (4) (not leak) from it
onto the sand, the dark shapes huddled under it (5) (MODAL, not attract)
our attention. (6) Little (we, know) at the time that we, who had been saving

all year for one luxurious day on a clean beach, would soon have our wallets (7)
(empty) to feed and house these aliens. One or two of us edged close to the

wreck and dropped flowers, then dashed away. This was no longer our problem; it belonged to
our governors, our senators, our heads of state. Surely, they and their moneyed friends (8)
(MODAL, assist) these wretched creatures.

Hardly (9) (we, turn on) our television sets that night, when we heard a

spokesman explaining, as our heads of state were shaking hands, that the countries in their
coalition (10) (already, reach) an agreement on resettling a quota of the

aliens in proportion to national wealth. This proposal (11) (ratify, officially)

that night, over the protests of the poorest members; in fact, over the protests of the aliens
themselves, who (12) (not wish) to be separated and who had only one

translation device among them. The couple of countries still (13) (recover)

from the previous war (14) (assign) six aliens each, while the countries of

high fashion and cold beer received two or three, to be installed in middle-class neighborhoods.
The cost of helping these creatures (15) (MODAL, turn out) to be high, as
the aliens stated their need for an environment with a specific mixture of helium and neon.

Today, decades later, as we (16) (reminisce) about these events, most of us

try to erase that picture of misery, hoping that we (17) (never, have to) relive

anything similar again. Instead, we admire the blue sky, the seabirds (18)

(scream) over the waves, and the parasols propping like mushrooms along the shore. Luckily,
clean beaches (19) (be) a common sight for some time now, and by this

time next month, we (20) (celebrate) whole two decades since the aliens

were fully integrated into our society.



IV Adapt the form of the words in brackets to the context so that you get a grammatical
and meaningful text. All the words in brackets have to be adapted to a new form and
correctly spelt. You should not use any —ing form. The first one is done for you.

10 x 1 point =10 points
Considered a masterpiece of biography, Elizabeth Gaskell’s Life of Charlotte Bronté continues

to be an (0) important (IMPORTANCE) source of information for the student of the

Brontés’ lives and writings. Nonetheless, it should be read along with more recent accounts
that include material which Gaskell suppressed or of which she was unaware. For example,
Gaskell’s characterization of Charlotte’s father is wrong, and her information regarding his
early life and later activities is minimal. Her account of Charlotte’s brother and his decline is

(1) (ADEQUATE) and misleading; and, most obviously, her refusal to

include all the material regarding Charlotte’s stay in Belgium results in a serious (2)

(OMIT). Gaskell (3) (DELIBERATE) emphasized the

tragedies in Charlotte’s family life in order to present her friend as a figure of selfless feminine

courage and (4) (NOBILITY) suffering. In doing so, she neglected those

aspects of Charlotte’s experience which called out her determination, humour, and (5)

(LIVELY). Most notably, what Gaskell neglected was Charlotte’s

experience as an (6) (AMBITION) author and a successful (7)

(PROFESSION). Gaskell’s desire to emphasize ‘the woman’ over ‘the

writer’ was strengthened by the overinvolvement of another biographer, Ellen Nussey, who

knew (8) (VIRTUAL) nothing about Charlotte’s (9)

(LITERATURE) interests. Ellen Nussey was primarily interested in defending her friend’s

reputation against charges of (10) (MORAL) and vulgarity.




V Make questions so that the underlined and bolded words or word groups constitute the
answer. Make sure your questions include all the information from the sentence. Do not
add new information or change the tense.

5 x 2 points = 10 points

Example: (0) That boy is called Peter.

How is that boy called?

1. Dirk insisted on paying his younger brother’s tuition fees last year.

?
2. Only three players scored enough points to progress to the next round.

?
3. By next July, Katherine will have been buying the same shampoo for three years.

?
4.1 go out to eat at least once a month.

?
5. The power of steam was first exploited for a pump in the seventeenth century.

?

THE END OF THE TEST
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